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C(R, z) = 12π Q(π 8)Rσ u exp  (z  H )2σ + exp  (z + H )2σ 10



C(R, z) = Q(2π) γ 1R + (α γ ) (H z) + 1R + (α γ ) (H + z) 10

σ (x) = γ x





H = H +  HCONCAWE H 0.175 Q UBriggs H = 1.4 Q (dθ dz)

[NO ] = a  [NO ]



Y = a  X + b

=  C f +  C f







C(x, y, z) = Q2πσ σ exp  y2σ exp  (z  H )2σ + exp  (z + H )2σ 10



H = H +  HH = 2  Vu 1.5 D

y3

2.0

P
y60 t

t



H = H +  H  H CONCAWE H = 0.0175 Q uHuber H = 0.333 H [H /H 1.2]= 0.333 H{(H H 1.2)(0.2563 H)} [1.2 < H /H 2.5]= 0                          [2.5 < H /H ]
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Lw 10log 10
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L in L out 
 = L in  TL  6

L in L out + 10log 5 

 = L in + 10log TL  11

L in L out + 10log 8 

 = L in + 10log TL  14
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VL = L(r ) 20 log (r r ) 8.68 α (r  r )

VL = 10 log 10








































































